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ELECTIVE COURSE : ECONOMICS 
CD 

EEC-06 : PATTERNS OF ECONOMIC 
DEVELOPMENT : A COMPARATIVE STUDY 

Time : 3 hours 	 Maximum Marks : 700 

(Weigh tage : 70%) 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION-A 
Answer any two questions in about 500 words 
each : 	 2x20=40 

1. Describe 'War Communism' as an economic 
system in Russia. Was it able to solve the economic 
problems of Russia in early 20th century ? Discuss. 

2. What were the reasons for the Great Depression 
in 1929 ? What were its effects on the British 
economy ? Examine. 

3. What were the main features of the New Agrarian 
settlement of 1873-78 in Japan ? What were the 
social consequences of this land settlement of 
1873 ? Discuss. 

4. What were the three approaches to 'dependency 
Thesis' as propounded by Latin American 
economists ? Discuss. 
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SECTION-B 

Answer any three questions in 250 words each : 
3x10=30 

5. Define the concept of modern economic growth 

as stated by Simon Kuznets. What are the 

problems associated with its measurement ? 

6. Examine the basic propositions on which 

Gerschenkvou's theory of stages of development 

is based. 

7. What are the main characteristics of a dual 

economy ? Explain. 

8. What were the after-effects of the First World War 

on the British economy ? 

9. Explain briefly the Marxian analysis of the stages 

of development. 
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SECTION-C 

Attempt all the questions in this section as 
directed. 	 3x5=15 

10. Write short notes on any three in about 100 words 
each : 

(a) Asiatic mode of production 

(b) Banking system in Japan before First World 
War 

(c) Monopoly capitalism 

(d) Scissors Crisis 

(e) Concept of 'The Big Push' 

11. Briefly define any five of the following : 	5x3=15 

(a) Imperialism 

(b) Gosplan 

(c) Mercantilism 

(d) Terms of Trade 

(e) Manor 

(f) Indicative Planning 

(g) Fudai 

(h) Serf 
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